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~ Cfi : 31qradi~I-~~1 ~-~~

Section A : Unseen Reading Comprehension

~ "@ : rq~I,liCflCfiI4Ji) N.:rlflicn- ~

Section B: Writing Skills

~ "If : 31j}'l1'ffi&lICfi{UliO(l ~ ex:JICfl{UI

Section C : Applied Grammar

~ t:r : ~-~~I ~-~'tT-1

Section D : Reading Comprehension

Instructions:

'Rffl :

(i) ~ JTRTit qriff(; 7JjTJgJ: ~ I

~ J{R- rr;r if 'r:l'K (?J7JS ff I

The question paper has four sections.

(ii) J>lFr1?§uSTZ3tmfUr J>lC;d/2J1tz3d~!JffitCf)72Jj ~R I

~ "@IS" if; ~ rft W ~- ~ if -{t ff:RsR ff I
The answers have to be written in the answer-sheet.

(iii) ~ ~ 31f~ armfDT 1!.Cf).ff4i m J[iiTur cJj;{§;jj2JtR I

~ ~ if; ~ T!% -{t ~ q-( 9fi11 it ~ m I

The answers to each section must be written at one place.

(iv) ~ ~ ';f fl?51;jj2JIH I

Jr.'FT-rr;r q-( ~ ';f f(;Rff I

Don't write answers in the question paper.

(v) J>lNfi<'-&l1 JM'iq3lIjm~'i31Cf/?2Jijq c1@rfj2{1 I

J{R- rr;r it ~ J{R-~ ~ fit fc7&;ft ~ I

Write the question number according to the question paper.

(vi) M J>I/?'iH/'i, 3d<lfDI #¥rl"l c1@rt72JIR I

trJfr m it ~ ~ if fC1f&r!: I

Answer all the questions in Sanskrit.
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12 afc.nT:

1.

~ Ch (Section A)
3iqFddi:tI-3lCIit~ (~-~)

Unseen Reading Comprehension

~f<1f~ctY:, ~ ~ QG;:cPFHI,\·~ :

F.•p~f<1fujct ~ c8 'WM ~ ~ m~"3m ft;rfurQ: :

Read the following passage and answer the given questions :

l0lf~'{ m ~~ C®l: B1 I ~ ~ ~ 3ffifq 31r<WT~

~ 3ffifq I ~ fcmr:l ~ B1 ~ 'q ~ 'tHY:, I ~ ~ ~

~ I (f5f ~ -qft.wtuT 31~ ~ fcfm QIC{1ClI'{ I ~ ~ 'el'iB:S~!lt?°i

~ I ~ ~ qqffUr 04Cil(jlf::! I "ill 3ifi1'"fjllctll"l - '31~ 31fCli "%

JI"i:.£9ICl:' I ~ >rfu 3WIl1'iBl1~ mil ~ 311l1"i:.£9,\ I ~ ~ "BCf ~ awq I

~ ~ ~I W fhtlt?f(1: ~ 311l1"i:.£9((1 ~ ~ fclm~ amfr(( I

~ ~ W ~ ~ a1illq ~ ~ I m >1"fuR; ~ \filT fq'Qlqrd

'81i'l~1l"l ~ m BUJl'il"l ~ I W ~ l1f.-;jQG;l1fY ~ 1 ~ ~ Cfl&Rt

- 'fcroT ~ 00 ~ I'

52

II.

~m~~1
~~~~I
Choose and write the correct answer.

(31) ~ fiN ¥ C®l: ~ ?

(i) ~

(ii) {I\i1Qlfll~

(iii) m
(iv) 11Tit

(q-) mil ~ 31IJI~£9<"l ?"'

(i) ~f::!CflI:

(ii) ~

(iii) ~
(iv) a:nwcu:

crfql~'i ~ I
TJf qrcp;r it ~ ~ I

Answer in a complete sentence.
(i) en: fclm'tTrf Q IC{1 q I'{ ?

(ii) \filT «li'l~II11 fcnll ~ ?

3

lx2=2

2x2=4

P.T.D.



III. Q~'ctfClCfic;q'R:JT .~ m ~ fuw I

~ ~ MCfiiAl if -B ~ 3m ~ ~ I

Choose and write the appropriate answer from the given options. 1x4=4

(t:fi) '3il"iH14dlt( ~ fBfl4Iq~B1~ ~ ?

(i) m1T

(ii) ~

(iii) "ill

(iv) ~

("&) 'w ~ qRlq~qfll ~ ~ ~ 'w' fI':f'ilqq~ ~ ~ ?

(j) fi)~ ~114

(ii) ~

(iii) ~
(iv) ~

(11) '~' ~ cR CflBI" M5!1401q~~ 31fu1 ?

(i) fc\~~IBI

(ii) fc\'Q141:

(iii) 'iR~
(iv) ~

(tT) '~' ~ ~ fcli FClqDdq~~ :mf ~ ?

(i) ~

(ii) crmo-r

(iii) &InldlR

(iv) ~

IV. ~ 31j;i§GBI ¥t ~ ~ fcRqr ~ I

~. ~ ~ ft;m: ~ ~ ~ ~ ~ I
Choose and write the appropriate title for this passage. lx2=2

(i) ~

(ii) F~~
(iii) ~ ~~

(iv) -qft~ ~
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~ W (Section B)

{il"I kif en en Itill ({il"II ("Ifen .:~)

Writing Skills 12 3tcnT:

2. 31¥ >rfu rc1ful(i~31'1:f:1ti li~~llli ~Gi1q~: ~ :

~ ~ cnl fc1"& ~ F'i1:~rZ1Rgd ~ cnl ~ -ij ~ ~ ~ it ~ ~ :

Complete the following letter, written to your younger brother, with

the help of the words given in the box : 1x8=4

(i) _

(ii) ~ I

~ ~ ~ m (iii) I ~ 31N ~ ~ ~(iv) _

(vii) I (fCf 31~ ~ ~ ~ crt RHilllli: I ~ "W-f

(viii) I ~ ~ l1l1 ~ Cfi~ I ~ ~ fClChI49FlY

~I
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3. ~-~ quf;f ~Witstilli ll~'dq~Hi fiQllldlll ~ fi~dqlct1l~ ~ :

~ ~ ~ ~ Cl1T quH ~ if ~ ~ ~ qJ fiQllldl ~ ~ ~ ~ if
~:

Describe the following picture in four Sanskrit sentences with the help
of the words given in the box below : 2x4=8

Write a paragraph in four Sanskrit sentences on the following topic with
the help of the words given in the box: 2x4=8

~, ~, ~, ~, -qfuur:, iSll(1Cf)I:, CffT, ~, 1fflCIT, ~, WiHf, ~,

~, %fu, ~, ~, ~, fQCf)fif<f1, ~, ~ I

52 6.



~ TT (Section C)
~ j54 9l'ffi &II en '"0 Ii£. (34~SlY:ffi (;41en '"0 I)

Applied Grammar

4. ~ {@~dq~~ ~ ~ en ~ ft;mm :

r;p:<if('1r~si(1Cf!CFIT if ~ifcfld ~ if ~ 312fCIT ~ Cflfct ~. :

28~

Write the underlined words of the following sentences after joining
or disjoining Sandhis: lx4=4

(i) ~ + 31f1:r BT ciilfC1CflI~ ~ r~ .~ I

(ii) Wf ~ + ;rr2f 5{olyf.f1 I

(iii) ('j;f ~ ~ + ~ I

(iv) ~ ~ ;:FHlOl ~

5. a:r~fC1fadql¥l~ {@~dqC::Hi "Wm:f ~ en >Rnf~Cf)~'R:f: ~. ~ :

Rkjf('1f{!jd ~ if (@~d ~ "Cf)f-wlRf 31W:IT ~ ~ ~ fqCfi~i if -B ~

~:

Choose and write the correct compound or expound form of the
underlined words of the following sentences: lx6=6

(en) fq ChCflIctil ¥ffiT I

(i) ftrCfl: T.f Cf?lCfl: T.f W fi Y I Q I{:

(ii) mr: "iT Cfi1CfiIT T.T

(iii) m: 'q Cj)fcfi; 'q

("&) YI(1IF4d~ ~ JiMl9.:j(i: I

(i) ~ T.T fmt: T.f

(ii) llffiT T.T ftruT 'q

(iii) llffiT T.T ftruT T.T ~ flAIQI{;

(11) a:r~ CllICh{O[ ~ ~ (~) 3"iPllijRl

(i) a:r~~

(ii) a:r't.ll(iCllICfl,(OIl{

(iii) a:r~I(iCllICfl'(OII
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("Sf) ~~dl~'ll ~ ~ I

(i) ~ ~ 7J;BIT: m

(ii) ~ ~ ~"BT

(iii) ~~

(s) q'l41$~ m~ m ~ ~ ~31fuf I

(i) ~

(ii) 3"lj~qBl

(iii) ~

('Cl") fI R!~ ~«I CflJ{ 31frflT I

(i) ~~

(ii) ~~

(iii) ~3"l'ifCi~Rj

6. 31~fc1f~3h"lCjIcR)~ {@~dqC'\Hi ~-~ ~ ~ err f15R!d~ m ~'R1:
~~:

Rkif0f@d CfTCFIT if {&iFg;(i W 7:t ~-~ <€r ~ en ~~ ~ ~ 3U'l

fCjCh011 if it ~ ~ :

Write the underlined words of the following sentences after joining or
disjoining suffixes to the roots or words. Choose the correct answer

from the given options : ~x4=2

("ct) Tf1t. + "Wl ~ ~ ~ ~ I

(i) ll1ij;:ffi

. (ii)

(iii)

(iv) ~

("&) Will ~. f'"i'"C'\'il?11 ~ I

(i) ~ + ~

(ii) ~ + (Cf

(iii) ~ + ~ + 31f

(iv) ~ + ~

52 8



~ ~ 1fRf Tfr4fu I'"'

(i) it + ~

(ii) ~ +~

(iii) TfTP1cfi + an

(iv) 7t + ~

(er) ~ + ~ ~ «lCh=ctc4 RcfQf~

(i) ~q~I'"1:

(ii) ~q~HI:

(iii) ~qI1HHI~

(iv) ~ql1l~:

7. 31~f~R9dqlcp;f41: ChltdChlr('pfd41: ~ ~-~ ~ ft;mru :

RkJF(1R9d ~ ~ ~ ~ 3R'flfu ~ ~ -qcJ ~ ~-~ <it. ~ ~ :

Write the words of the following sentences after joining suffixes to
the roots or words given in the brackets : 1x2=2

(i)

(ii)

~ (~ + "("q) en: 1" \1WlTfu ?

___ (~ + WJ) ~ w% w% crc::fu I

8. 31~f(1fujdqlcP1~ ~ 113'{t'1llJi 5iG'dQGf!QllJdlJT ~ 3lOl1ljQ~: l£{flj(CI1 ft;mru :

f<ikJF(1f~d ~ ~ ~ q,l lffi ~ ~ ~ -rm: ~ ~ ~ -rnT ~ :

Fill. in the blanks in the following sentences with appropriate
indeclinable words given in the box : 1x6=6

(i)

(ii)

(iii)

~ 31~ 3lIJI'60m ?

~ ~'"1: m 1" JlmiSljd: I

(iv) '3lQ1=l ~ CflPf ~'"1: ChRiSljlfB I'

~I

____ ~ "B: ~
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(vi) _________ ~ 31fq d5f Jli.i§f.:n I

~

[ ~-~, m, ¥, 'lfTCRL ~, ~ i

9. >IG:d fc.1enc:tl'Rf:" af-q d B:S~~ Iq~ ~ cW:P"11f.i ~ !

~ ~ fc.1ChMl if -it ~ ~ r.rc:: ~ CfTCFf TJf ~

Choose the correct numerical words from the options given below and
complete the sentences. 1x4=4

(q)~ fc.1'QIC1~(4)fc.1~ II <1 C2 a:rr: 'BFn !

(i)

~

(ii)

~

(iii)

ijj,0 IflO(

(iv)

~

("&)

(2)till fM en lil:m: q:;;r ~?'"
(i)

~

(ii)

~

(iii)

~

(iv)

~

('T)

~ (1)~~ ~11@q!~ Chl!Cfl~11 ~ I

(i)

~

(ii)
~

(iii)
l{Chffl"J f

(iv)

~

('€f)

WrcR(3)~rR "iIT~I

(i)

ftfUT

(ii)

fc:R?r:

(iii)

~

(iv)

?f"l1:

52
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10. 31~fC?tfuldClI¥l~ '{@f;tdq~~ ~ 31fur I ~ ~ Q01MCh01'Rf:" ~ 3"l!{Jlas:q~.
~'I:ZI"~:

~ ~ ~ qrq:<:ff # '{~ifCfld 'R: ~ ~ I ~ ~ MCh("ql # -B mn 3m ~

~ .'R: <it mTrf~ ~ ~ :

Choose the correct answer from the given options and correct the
underlined incorrect words in the following sentences : lx4=4

(i) -qQdT

(ii) ~

(iii) 1102fT

(iv) 110~

(i) 3"llll:cgICl

(ii)

3""I1ll:cg1Cl:

(iii)
3""IIll:cgt»

(iv)

3iIlI-c0d
"'

(i)~

(ii)

~

(iii)

~

(iv)

~

(er)

<rt ¥ \3qM~lffl?

(i)

~~

(ii)

~2fT

(iii)

\3qM~lf'"d

(iv)

\3qM~1I4:
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~ 'C:f (Section D)
qfcrn"~Clif41~"l4Ol(qfcrn-~CI~j~)

Reading Comprehension 28 3tcIir:

11. 31~fc.1f~d~,~, 'i1C:"lIi~i T.f ~ 5lG'd5l~'iHI~'d·ufUl ft?m«f :

Ryfc.1R9d ~, ~ afu: 'i1C:"lIi~1 it ~ ~ -rm:~ ~ ~ ~ :

Read the following prose, poetry and drama passages and answer the
given questions :

1-x2=1
2

C!>Cflq~'i .~ I

~~if~~ I

Answer in one word.

(31) ~.

~ (W1 m ~ ~ -qfu ~ ~- '3Wf ! fcFj ~. ~ ~ ?

3171~ fflwldlsfu ?' mfu ~ ~ q~ijl'dlq'i ~ -wf CfIRf Rim

f1Cfl'601!{ ~ ~ 1 ~f~l1dl m ~ - '~~ 1 31J1Rj wfUT:

~ 1 ~ ~ ~ ~ f9lilldl!{ I'

~

I.

(i) ~~cp:~?

(ii) 31J1Rj wfUT: ~ ~ ?

II. \fu fc'll'Fl 'i ~. I

TJf Cflcp:f if ..~ ~ I

Answer in a complete sentence. 2

q~ijl'dlq'i ~ ~ (~) fcFj ~ ~ ~ ?

III. ~~ ~ ~ ~ fu:mffi I

MCfl041 if ~ ~ ~ ~ ~ I

Choose and write the correct answer from the given options.
l...x2=1
2

(Cfi)· '~~ 31if ~ ~ fcFj ~ .~ ?

(i) ~
(ii) mfu
(iii) ~

(iv) 3171~

52 12



(~) '~' ~ Ch1q~Bl f%lllq~ ~ ?

(i) 31fu

(ii) f9fllldl~

(iii) qcffi

(iv) ~

(3TI) ~

~m~~~q:q;1

~ ~ ~ muT~sfq ~~l~d: II

I. ~Chqe:'""I~ I

~~if~~1
Answer in one.word. 1-x2=1

2

2

(i) muT~sfq ~~l~d: en: wuWr:- ?

(ii) ~ 6W-1QI(: ~~ ~ ~ ~ 31fuf ?

II. t:t0fcll~'""I ~ I

~~if~~ I

Answer in a complete sentence.

>r~ ~ en: ?

III. ~~m~fum 1

MCh0fj if -B ~ ~ ~ ~ I

Choose and write the correct answer from the given options.
J..x2=1
2

(Cfl) '~' ~ ~ M~l~olq~ ~ ?

(i) ~

(ii) q:q;

(iii) ~~l~d:

(iv) m.
(~) '31(1:"' ~ 312f a:r-f fcfi ~ ~ ?

(i) ~
(ii) ~

(iii) ~
(iv) m

52 13 > P.T.D.



(~)

(mr: QFCj~ld: 041'8'iI{i{!)

~ - (cx:rrB >rm) ~ ~ ! ~S~ 3FT~ ~ ~ ~ I

Wi'""dld" QilOSI'iC1f.W51I: ~ ~ ~ I ~ '8~{?I~I: ~

~ 1:ffiRf I ~ ~ mefu-CR-~ ~ ~ I ~ ~

\ifTdT I '8~{?Ii!{J,: ~ 'lffi1it I ~ ~cD4;fl I q)~ ~ RqI{On~,

3P1m ~.~ ~ 'JOj~tsl:JFd I

04m'"fI<~J- ~~! ~~~ I

I.

II.

Q>Chq~'i ~ I

~~if~~1
Answer in one word.

(i) cnT Q~~ld: ?

(ii) en: ~ \ifTdT ?

l{0fqICfil'i ~ I

~ Cf[Cf<1 if ~ ~ I

Answer in a complete sentence.

TfJTo1Td '8~{?I~I: ~ cn;r 1:ffiRf ?
.••••.•. , ....:J

1-x2=12

2

("'8cp~i1:( ~ fcl!~I~Olq~81 M~ltsl:Jq~ ~ ?

(i) ~

(ii) ~
(iii) ~

(iv) 31IChI~Il=(

('8l"HII(( QilOsl'iC1~I@: ~ ~ ~' ~ (~'

f9h4Iq~81 ~ ~ ?

(i) QilOSI'iC1~I@:

(ii) ~

(iii) WHil ((

(iv) ~

~~m~fWsffi I

~ChMI' if if ~ ~ ~ ~ I

Choose and write the correct answer from the given options.1-x2=1
2

(q))

('&)

III.

52 14



12. 31~lr~r~dCfi~ fl~r:qd 'lWf MCfi0Ol~ ~ ~ :

f,:p:;if""R9d ~ Cfi~ 'CfiT ~ ~ MCfifCfi if it ::l~q;l:~ :

Choose and write the correct gist of the following two sentences from
the given options : 1x2=2

(Cfi) ~·TI~~~~ I

'lWl:

(i) ~ ~ :q ~, wr CfiTSN % ;r 31fu=r I

(ii) ~ aJR ~ ~ ;fR-aJR :q fliamr, ,31(1: wr % I

(iii) '~~:q l1Ut fcf;~t fcf; :q ~ ~ fcl~Cfi'iuTCfiI4 ~ ~

~:q~~1

(~) ~ ~ QRCld'J1H: I

'liIclT

(i) ~ <rGJ-:~ ~ Wifu I

(ii) m w:f.1, ~ ~ ~ 3m I

(iii) ~ ~ ~ ~ llf8~n~: 31fu:r I

13. ~ ~ ~ FRcrr 31~IF""R9di(ctlCfiii~;P-T ~ ~ :

•. ~ ~ fl:!Rld 'l1G ~ Rh=Jf0R9d cfr;ff ~ ~ ~ <it ~ ~ :

Complete the prose order of the following two shlokas by choosing

the appropriate words given in the box : ix8=4
(Cfi) ~ 3ffit iR ~ m:<1mqr~ I

~ ~ ~ ~ ~ ~dln:(f: II
..:>

~

~ (i) 31ftr ~ ** ~ (ii) ~ ~

(iii) ~! "BT (iv) ~ tfu;: I

(~) QVlIQC(I21'1IRi ~ ('fRf ! ~ "{ciT I

~ w:n'ffiai ~ M~l~d: II

~.

(v) ! 'R11-3"lIQC(ld'i 31ftr (vi) "{ciT ~ ~

(vii) ~ ;r (viii) Q41'ffi&1l"( I

~lfr

Ifqi1~~:, ~,~, (fffi !, fcrW, ~, ~, "ffl<1: ,J

52 15 P.T.D.



14. {@Gt(jq~IR ~ 5PF1R4roj ~ I

{@Gt(j ~ ~ 3iT~ 'R m-f.:l11fuT~ I
Frame the questions on the basis of the underlined words.

(i) iJtl~~P"F<'H1'llolj ~ cg;q: I

(ii) ~ ~ 3"i"? °lIiJ<1: I

(iii) 'Sj<1f2j~RqI8'i ~ tjz; ~ I'

(iv) ~ ~ -qR~ -;r Nfu I

15. 31~futf~(jIR ClICfllIR E12'ilffi~ljBI'( fumm :

Rkjf~f~(j CflCP:IT ~ tJZ.1T ~ 9fiJ1~ ~ ~ :

Write the following sentences in their sequential order:

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

'~ ~ CflT ~ ~ ~N'fll m ~ ~ I
~ 31lW1T ~ fiJf~~1 ReWR! ~ ~ ~ I

wit lirit ~ ~ I

~ fq>!~jBi ¥R1 I

"B: cnrcfi Cfl~/:jiJ'iIR Cf)~ I

~ 3Ft ~ ~ 3W1 m >!~~If'"*1I

~ ,(1'Sj~B: ~ ~ ~ ~ ~ I

~3W1~~1 v

lx4=4

1
-x8=42

Choose and write the correct contextual
words.

("en) ~! Cf)~ ~ ~ ~ fc4f~dl: ~ ?
(i) ~--

(ii) ~1~enljtBHf4 ~

(iii) ~ "
(iv) ~ ~

("@) W~ ~ ! ~ ~ >!:i'@lffiql: I

(i) ~ "
(ii) W'If:v
(iii) ~ ~

(iv) ~

meamngs of the underlined
lx2=2
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